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AFE4H 714 731 1445 485 1 2 3 3
KFEFEZ 356 313 669 219 1 2 3 2
ARFEEER 0 3 3 2 0 0 0 0
RFEEET 1721 1738 3459 1386 10 24 34 26
REREH 718 688 1406 446 20 1 21 20
RETHE 436 426 862 245 0 0 0 0
KFHIRE 536 542 1078 300 0 1 1 1
AFELVR 292 288 580 175 0 0 0 0
AFEFEH 471 460 931 311 2 2 4 3
KF12F0H 463 445 908 299 3 2 5 5
KFb Ik 556 735 1291 567 0 3 3 2
RERIF 3158 3201 6359 2359 12 18 30 22
KFLH 341 353 694 227 1 1 2 2
KFEFR 263 270 533 180 1 0 1 1
KEHA 300 281 581 199 5 2 7 3
KFEES 443 483 926 280 1 4 5 5
##AT—TH 168 196 364 173 2 3 5 2
JEAT—TH 185 164 349 161 3 6 9 7
BRE=TH 275 291 566 228 0 0 0 0
BRETMT B 79 65 144 73 0 2 2 2
S=H—TH 173 209 382 181 8 8 16 8
=H—TH 295 313 608 292 11 3 14 11
=BI=TH 310 307 617 285 7 7 14 13
=R/ T H 209 223 432 171 1 1 2 2
BitboeDFEL—TH 140 132 272 111 2 0 2 2
BitbeDFEL-TH 443 434 877 311 6 4 10 8
BrtbeDFEL=TH 0 0 0 0 0 0 0 0
BibeDFELMTH 3 3 6 1 7 0 7 7
BrtbeDFELATH 0 0 0 0 0 0 0 0
FRAT 566 573 1139 392 0 5 5 5
FTHT 520 514 1034 345 1 2 3 3
ER S AT 728 786 1514 557 15 9 24 20
h R AT 420 444 864 328 6 5 11 7
BT 364 386 750 285 3 1 4 4
K i BT 541 556 1097 401 2 2 4 4
AA—TH 497 472 969 345 2 4 6 6
AAL=TH 792 810 1602 607 17 3 20 20
LG AT 162 179 341 129 0 0 0 0
BT 84 90 174 88 5 2 7 4
ET—TH 220 247 467 177 5 2 7 6
E=—TH 170 176 346 151 2 1 3 2
ET=TH 152 156 308 110 1 1 2 2
E&—TH 287 296 583 226 21 9 30 24
EA&-TH 270 292 562 212 7 3 10 10
EA=TH 187 179 366 125 1 1 2 2
AT 148 158 306 127 0 0 0 0
B (E D HET 310 282 592 232 7 7 14 6
I N 19466| 19890 39356| 14504 199 153 352 282
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